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mct:x2-100.
*, tiro-zf.1f-t oqr gq*' Frr< c{ (zs tz x 2 - roo') srqi( s sz+ 6t{r qlt6s'

rgt:x3-5.
.rc,)o 6igtaw.ss+'Plr{cr (16q 3 -, qqt(43 drrqrfds'

40. (d) :

41. (b):

42. (b):

43. (a):

44. (a);

45. (c):

46. (").

47. (e):

6-{t:x2+3.
en, ii zfc1t t acl wh PrH vt (3? x 2 + 3) slqt(77 dlt qlfdq'

;5rlt:x2-2.
ed, ai ZEf"t-t nqr qq+ em cr (26 ' z - z) eref( so t+t qrf6q'

frTIt: x 1 +1,x2+2, x 3 +3,....

"i,, za$ i"* Eei ot, qr (4' x 2 + 2) srqt-( I 0 d{r qrfdq'

H,*,;i&ii+.i'=i$*ka x 2+ 1) Qqqt(eto,q,tq
F{t: > I ) 2, <2 13. <3 14,.....

*' o Zf.Wt t'o* geh ern w 1r x I + 2) elelR 3 dil qlfds'

5q{; xl+2, )2+4,...-.
*,lru ffit'ieilE€hems{(s6 x 2 +o sTqh 118 6NqrBs'
*qt: x2+4,x1+E......

"u, 
i+ 61,l t um E(h qrl qr (2E ,. z + tz) erqt( os d{ qGq'

5qS; ^6+0, ^ 5+5.^4+4' ( 3+3. "'
er<: 1590 ltrXoi t acn qsh ein qt Qg5 '2+2) 3rqR 1592 €m qn6q'

48. re): a;'q t iy l+2.x 3+4.x5+6,.....** '"' ' *, toto'ffi iuqrsq+ el.o c{ (6t0 ' 9 '' 1q1 3Tqt( ssoo 6qr qltds

as- rlr): fig+: x6r I,r 5+2,x4+3. ^3+4"" '"''"' ;, ;t zti*r-i u* v# ott c{ (13 x 5 + 2) tqct(67 61 aft<'



,:809:

50. (a):

51. (a):

s2. (b):

53. (c):

54. (a):

55. (c):

56. (d):

57. (e):

s8. (a):

59. (a);

60. (D):

61. (b):

62. (b):

63. (c):

64. (b):

65. (c):

66. (a):

67. (e):

68. (e):

6e. (b):

70. (dy :

11. (c).

72. (e):

firIt : x I + 11, x2+10, x 3+ 9, x 4+8,.....
err: t+ 1Eryi t rw qs* pTH q( (2 x I + I 1) 3rqi( 13 drr qrf{S.

sct: x 8 '?.x7 6,x 6 5,x5 4,.....
erd: 16 ZtrToi t dln Eqh rql{ c{ (3 x 8 - 7) s]qiq 17 dFr lrfr\
frHt : x 6-6, x 5 - 5, x 4 - 4,.....
wr: 2+ lEpf t aur Fsil rerl{ c( (6 x s - s) eTpri( 2s d-{ qft\.
fr'rlt: x 1 + l,x2- 1, x 3 + 1, x 4 - 1,.....
+n: zl ntq:i t aw guh ein w (9 x 3 + l) srqt(28 dfl qf{S.

lErlt :, 2+'?,, 3 - 6, - 4. 5,.....
q(: 13 ZtrWi t nqr Es* rqH q{ (2 x 2 + 7) e]qi( I l 61 aiftA.
!Eq*: " 2-1,,I 4, .4-5......
if,fr; 99 EfZTri t aur Vs* *qn qt Q3 x 4 + s) qqk 97 Et{r qrf{q.

5q| : x 3 +5, x 4-6, x 5+7, x 6-8,.....
erd: l t 72 1ftryi I nQn Fqil erH q( (197, 6 - 8) qerk t l 74 +{ qGq.

!F{t :,2+ 1,.3 2,t 4+3,x 5-4,.....
e{f,: 1632 lEpi t <w gvil em v( (271 x 6 + s) slelt( 163 r Efnr erftC
!5Ht : x0.5+ 1, x I + 1.5,x 1.5+2, x2+2.5,.....
era: 22.s lE1oi t nqr Es+ {em c{ (10 .2s \ 2 + 2.s) 3{qt-( 4 d|{I qf€S.

i6qt: ,0.5 + 1, x 0.5 + 1.5, x 0.5 +2,.....
+rd: 35 1fu10f | 1q1 Es+ *qr{ q{ (64 . 0.5 + 2.5) Brpri( 34.5 Et{r qrf6q.

!fi | : x 0.5+0.5, x I + 1, x 1.5+ 1.5,.....
era: 81ETrltaenW+e{Ec{ (6 x I + l) srql-( 7 AiT qrf6S.

lErtt : x 0.5 +0.5, x I + 1, x 1.5 + 1.5,.....
erd: 6 ZETri t ner Fq+ Tsnr q{ (4 x I + l) iiqt{ 5 Etfl qri6S.

6rlt :' 1 +(7 x 1), x 2+(6x2),x 3+(5 x 3),.....
srd: 32 ZtrTri t nen Esh em qr 19 x 2 + (6 ,< 2)l e{qi( 30 dr{r qrl6S.
q;g| 1 xf +(6 x7), x 5+(5 x6), x4+(4 x 5),.....
era: 2428 lEpi t nw gs* ern qr [600 x 4 + (4 , s)] e{qt( 2420 arl qrftc
*ct: x 7-(7,5), x 6 (6,.6), x 5-(5 x 7), x 4-(4 x 8),.....
err:214 lEpi t avr gs* +em c{ g2x6 (6,. Ol erqiEzre il+ qEq.
!5.qt: - 2 4.
em: 76 nftryi t nw Fq+ erd ct (168 + 2 - a) slqlq 66 t'r{I qlfrq.
gq|: + 2+1.
o]-d: 8 ZETri t dqr qqh TprH qi ( 18 + 2 + l) sr+( 10 *{r qrf6q.

sFct: - 2 1.5.
q(: 348 EEToi t teTI gst PrH c{ tQot - 2) 1.sl slelt( 349 ArI qf"'S
;5ct: - 2-4.
ero: r88 lEgt t aur wil pm q{ (376 * 2) - 4l €{qt( r84 all qGs.
*'gt : * 2 + lO, - 2+ 8, + 2+ 6,.....

64 ntcEri t nefl W] rcrn qt (1 16 + 2 + 4) srqt( 62 61 urGl.
t: -6 14, +5,12,+ 4-10,-3 8,.....
a80 Zlayot t de{r fq+ €rFl q( (2420 = s - 12) srqt( 472 dil qrf6S

fr: -6-6, + 5 s,-4-4,.....
48 ZtrToi t nq wh {qFr c{ (196 + 4 - 4) siqi(4s 61 af<.
t: -2-8, +2 7,+ 2-6,.....
394 ZfgTf t(qrqq+prFrrR (8r, * 2 -s) qqi-(398 Ar EiEs.

rqil:

sq
3[d:

frq
3{d:

sq
slil:



81O.3i6rtrqil

73. (e)

14. (c)

7s. (a)

76. (A

77. (e)

78. (d)

7e. (b)

80. (b)

81. (r)

82. (A

83. (e)

84. (D)

8s. (a)

86. (c)

87. (a)

frct : - 6-2, :. 5 2,+4 2,+3-2,.....
ff(: 1008 ZreToi t apr gqh r{TE qt (6072 + 6 - 2) r{qk l01o il{r qrf6q.

mqt: - 2+2.x2 2.- 2+2.x2-2,......
erd: 26 ZtrTri t nen gsh +err{ qr (ZO + 2 + 2) oierf( 15 dlr qIt6S

mqt: , I +12,t2+22,x3+32,x 4 + 42,.....

era: o 2fupi t aw Esh rerr{ q{ (4 ,. 1 + 1,) 3reliq 5 +{ E-rfrC

mct..t t),.2 22..j 32......
err: 196 zEgd l aer Fs+'rprH qr (45x 4 42) 3lqtE 164 6t{r qrFdq.

frqt : x 2 + 12. x ) + 32., 2 + 52., 2 +'12,.....
+ra: 4a6 lETui { nqr qqh rerl{ qr ( 19 1 x 2 + 92) slqt( 463 d{r qrFdq.

fct: . I lt,-2 - 2', . 3-3',.....
era: 366 1Eri t a?Tr Fs+ Tenr q{ (75 t 4 + 43) qqi( 364 fr{I qGS.

mqt:,2 22..3 32.x4 42,x 5-52,.....
edd: 68 ZETri t nsn qqil {pnr q{ 

12a , 3 - 32) e{eri( 63 Arr qrf6S

fHt:x3-12,*4 22,x5 32,x 6 42,.....

erd: 677 fffi { aqr Fs+ prn q{ (136 x 5 3,) qqi(671 Etfl qrfdq.

{.ri ffin *tc.iiqrffirrsqt'
1.5,4,3,2 dPrT II. 12, 10, 8

+o: z 1fugt t aur gst tem x + 6I+r afrq.
A'r$ ffiA ifur,iiqrfrlrrsci ,

t.11,20,38,',74 nqr 1.5,t2,26,54
f imqt : +9, + 18, + 36 (qT II imqt | + 7,+ 14.+ 28.

wc: 40 zf.Tri t nw gq+ rql{ c{ 38 Afl qrF6 .

{'..d }urr a iFrd +r frfar sq t :

t.2, 5, 14,4t dql II. 3, 8, 23, 68

InsnIIvd.6itmqt:'3 l.
3rf,: 69 ZETri t n gqh T+rF c{ (23 x 3 - l) e]qt( 68 +{r qrF6S.

5q| 1 r 1 +3,x2+3, x 3 +3, x 4 + 3, .....
err: + 2lzpl t nur qv* wn vt O arl lTfdS

!q n-FR, 6 x 1+3:9.
4 6I esrc q< t6r ffi 4flfi t : 4, (4 x l + 3) srqi-(7, (7 x 2 + 3) 3{qi1 1?, (17 x 3 + 3)

srqi( s4, .....

He t f6 s$6r trs{r r( 17 t.
iSrIt : x I + 12, t 2 + 22. t 3 + 32, x 4 + 42,.....
+rd: 6 {Epf } 6q1Wh Tpr11 c{ (2 , 2 + 22) 3Tqf( 8 Art Erft\
6 s1 gerq q< A-fr{ ffi +.rfr t, 6, (6 x I + 1) s{e& j, 0 x 2+ 2) orqt(
18, (18 x 3 + 3'z) 3{qt( 63, .....
He t F6 E{ffiT frs{r r< 18 t.
rErlt:' I l,'2.2, 3-3,.....
sla: 34 fu $ 6q1 5u* rrrn vr ( l0 x 3 + 3) 3Tert( 33 6tfl ?GS.
34 61 eciq r< a-fi apfr q.rfi t:34, (34 x I + 1) srqi( 3s, (35 x ? +2) 3{qfE

72, ('72 x 3 +3) 3lPlt(219,.....

Ee t ffr Esfir frs{r r< 72 t.
fict: 2rs, 2-ll, 2r 13,.....
erd: 58 ZtrToi t nEl Esh rc{rr q( (23 x 2 + ll) srqi( 57 ttfl qJFq.



ri6 fuft,:,o err
58 6i gerq q< i-m ffi qrfi t : 58, (58,. 2 + 9) e{qt( D5, (125 x 2 + ll) srqi-(

261.(261 x2+ l3t 3r+(535,......
qe t to Ecor frctr q( 261 t.

88. (e): mAt: x 1+ 7, x 2-11,x3 + 15, x 4- 19,.....
err: s 1trpi t <vr Fq+ err cr (9 x 2- ll) eis{h 7 Ar qrf6S

s *J yerc q( i-Ei{ iofr m-fr t : 5, (5 x 1 + 7) srqk 12, (12 x 2 -11) 3{?ri(
B. ( l3 ^ 3 - I5) 3rrli-( s4, ......

se t t+ g+r+r frs(I T< r: t.
E9. {a) : FTI t | 142,+ 122,- tO2,.....

era: r43 1trpi t nefi Fq+ efir cr (62 + 8r) e{qi( 126 61eft1
143 6i eerq q< d-s.r ffi qrfi t : la3, 043 - t4\ srqh-53,( 53+ l2r) srerk
91. (sl lo'zr 3lqk- s. .....
Iqe t fs'gsfrr frs{r Yq 9l t.

90. 1d): *rt:'1.5 1.5. , 2 - 2, ^ 2.5 - 2.5, .....
em: s9.s lEEf t rur gs$'q-a qq 

123 x 2.5 + 2.5) srqi( 60 A-{r qrF6q.

59.5 m'J qqq {< t6{ }"fr nr;rfi t r 59.5, (59.5 x 1.5 + 1.5) eTqlE90.75, (90.?5 x 2 + 2)
sr?rt( 183.5, .....

se t f*ge-+r trsn q< r83.s t.
91, (D) : frr t : r 0.5, x l, x 1.5, >< 2, .....

eftI: 28 1tr{di { 6en gq+. {qH c{ (rz ,. z s) erqi(:o Er{r qrl6q

28 +i eqq q( ts'{ ffi qr-fi t : 28, (28 x 0.s) s{+( 14, (14 ,. l) s{qt( 14, (14 x l.s)
srqt(21, (21 x 2) qqt(42,.....

Hq t t6 Fsfir frgrr q( 21 t.
92. 1b,): *et : -0.25 . 12.+0.25 . 22.-0.25. 3:......

€{fr: 20.75 nfu,f t au {sS em q{ (18.25 + 0.25 ,. 3) 3{qt(20.5 A1r qrfdC.

20.75 6J rprc y< d6{ ffia-rfrt , 20.'15, (20:7 5 + 0.25, lr) srqk 2t, (21 + 0.25 x 22)

e]l.rlnzz, (22 + 0.25, 32) e{qk24.25, .....
qE t Fs, ssmr qlsr rE 24.2s t.

93. (c): m'rrt:+'12, 62,+52, 42,+32,..-..
wr: aa7 1ET]t t avr gu em m 1+a7 - 6) qqi( 4s I ArI qrF6S

447 6J rprc v< t-6( ffi q+fr t : 447, (M7 + 7\ srqt( 496, (496 - 6r) srqi(
460, (460 + 52) e1qiE 485, .....

se t t+ qsor dq q< 485 t.
94. (e) : mq t ,,)+3,,2+5,x2+7,x2+9,.....

:ra: 18 1fttJl $ <vr qsil elr{ w 1z x 2 + 5; elqlq 19 fra qfrq.
l 8 41 nqq q< t6{ ({rfr ffi q{fr t : 1 8, (1 8 x 2 + 3) sref( 39, (39 x 2 + 5) slqt(
83, (83 x 2 + 7) srqt( 173,.....

sq | 15 gq-6r der q( 173 t.
95. (c): i6"HB: x I +(l x 2),*2 (2x3),x3+(3 x 4), x 4-(4 x 5),.....

s-r: 146 lEpt t aqr Fs* {qH q{ 142 x 4 - (4 x s)l srqR r48 til qri6q.

146 s1 qerq q< a-6{ qgfi ffi q{fr t : 146; [t46x I +(l x2)] erqt( l4E,

lr48 x 2-(2,3)l 3{rrk29O, [290 x 3 + (3 x 4)] erqh882,.....
qqtfrgss'ldqrr( 882 t.
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Fqr qcfr

r. qf( + ?Fr qFrre trtrq+' +, d f{qfdtrd t t qr sfi Et{r qrF6s?
b

(a) 6>0 (r) b>0 (c) ab>0 (d1 a+b>O
RR.\T.*.-Tet zrFhq rm.qfr{T, 2014)

2. ffi fcrsrdq { ffi qr d sfffi, qr rr-rs qr ilil qTsr( ddi tr qf< rso f{sr?fi siffi,
25s fuflifi sqg qq 15e fuanfr sinfr cs q-{s +d '{sd ffi + d f€rdq { ffi
f{spfi t?
(a) 400 (D) 600 (c) aso (d) 500

C$.qq.qq.qq.*. -te-rt f+t-r vfrqr, zoroy

3. q+' qfff i q+, +{+' +i gq {d c{ {c fs 16 S+, s{ d +sr + qrqrq sd <90 eft{ crq
tnr rt++ i +{d 9 r$i qlq trqr ft s$ c'rq s+{ <65 +1 nRr crq gir vrr-d +1 +trr
qar{r

(o) l2s (a) ll8.7s (c) ?10 (O <2.s0

G3r.qc.+-*.S.!tr *.9.*.-qd.S.*. vfrqt, zorn;
4. qf( sr&s. qgqq U = 0,2, 3,4,5,6, 7,8) sil{ e = {t,z,t,t}dt 6 4c f5rsg q(-d{ drn?

(a) 1s,6,7,8| @) {s,6,t,zl (c) ls,6,2]) @ {s,6,3,4}

Ns.q€.*-fr S.!tr d.g.S.-qd.S.*. u-frqr, zor+y
5. 4923'1 x 3995 x 738 x 83 x 94 {uFTrfi'el 6r fori d em 6.r er+ qar(r

(s) 0 (b) 't (c) 5 (4 6

qe.ge.*-*.*.qa. *.9.*.-qf,.*.qt vfrqr, zo r +;

6. ffi q{qn 6r ffi zn fue enRm sq r{ t+ffia t erh erfrr+ w t ffi 41 {fur' +1
{qr + mdsn T{trdr + vs g+ {fr+ d s60 dHI 6r sqtrr gur, d t+e tz+oo 

"nqr. 
s+.

Est rre+ t ozo q1-6'qT sc+'r 6en, d f+e t2o+0 .anq w erq r-fri d soo tr:6 61
uw gi, ti Ys qrti qT fdd d,rr.
(o) (1660 (r) t1860 (c) (2160 (A <2260

Cqq rivr rrq iqT crffq-fr qftF, 2015)
7. cfi si #f ard {@r ,pe, t, ffi st61 fi frs rr ern t W qqr d ffi'+1 q<or

T<-d o.cd g+ Ti rer ,op,d qrrqr qr v+a t'pe,t ,ep,6j qari t s enn * {esq|pQ't:
(a) 83 (b) 47 (c) '74 (d) 65

1rq sa$ rrq +{r rrifuo, vfrry, zoro;
s. Erfir + crs <200 t qq wq * et( erc+ $Tq irr orrtfi f6wr src+ fu{ si ti 6r frutq +fr

t qE ffi S sgq qc+ crq {i tr{ q,t eqrr f6wr src+ erq nr+i 61 tfi refr * qq n-o
ol ss* aq { cts 6qS t # Fd qrfr emq qqr * c<rqr rrt d qri 

r

yd-d fi-{ d fts rrq tr{ d, e{rntr0 fu{ 6i f{s.Ts r{ t ffidd oti c{ eil{ qrq dEqT:
(a) 2 (r) 8 (c\ 4 (d) 16

(@ riyr rrq tqr Er{ftr.F qfrHT, 2015)



o

{@T q6ftft .q uv=ii, * ea

l. f<ct rrqr t' '+t qrtrre q-<nq+ t,
b

= ab>O
eqrR a=-5 b=-2+a<0,b<0=ab>O
oTrRa=5 b=2=a>0,b>0+ab>0

2. ffli.rqr t r(r)=:so; n(K)=2so; n(rnr)=lso
..,(nur) - "(z)+r(r)-r(Enr)

= 350 + 250-150 = 450

3. cr{r ts t-+o qr qrt{m, tr+ t, *r
gI--Ir{qR, I qr6 6r +f,i = 12, : 99 + qrrs

9 Tft+ 6r tfi = 9x:65 +wtq
qd-rrsr (D qq (ii) ce o'ri q{,

3x=25
25

3

qfrfi{ur (Dt,

rz(?l):so*c.rs
\. 1,

+ -rqd 4.I {s:100-90=<10
4. u - \r,2,3, 4, 5, 6,7,8j

A = 11,2.3, 4)

A,, = ls, 6.1,8\

5. 49237 x 3995 x 738 x 83 x 9
:7 x 5 x 8 x 3 x 9:140:0

6. s6o dta'* sq+,r w ftm 3lffi = t2,4oo

620 dH'd sc+rr q{ t{d €{rqr = t2,640

(620 - s60) $a + 3q$Ir q1 fqq errqr = 7 (2,640 - 2'400) = <240

60 {H d sctt ct kd 3Trqr = <240

(s60 60) dTa * sq$'r q( fqo sTrqr = < (2,400 - 240) = 72'160

7. fts rrs. t{+-fl i t 65 d q@r t tesor em cfiEdr 6{i * qR qgr 56 Etfi *
= 6 + 5 = ll : 5 + 6 - 11

365 56=9
8. Trd Ej # qrd siqtq qqt = 1l

sr-rqqF, qf6n zqer ll .22 .44 .88

Fs e-s,R T6-d fq* aqr ef; q frr + Etq f<q Tq ffi ol qgl s-r *t*- =9=a
11

(0
(ii)



r6ilc Ect-tr.rd?E. ilqr qilc qqrtrsd

t. tS egtq fur qid fre s, z, rr er\ r t frqrtsd 6{+ q{ frq{T: 2, +, a e+{ ro tswm
errcr t,
(a) s00s (b) s002 (c) s008 (A so2s

(W.qs.fi.-r(,A zrkrr errn qrtqn, zor+)
2. t €qtst ?Fr c.rr. qq d.€. sc{T: 10 qcl 200 tr qR rti t qo sqr 50 +, d (gfr q@r

qr *z
(a) 20 (b) 30 (c) 40 (4 100

C6.fts.\t€.ST.*.- is-il fefi-r qfr{r, zoro)t. ("t-t')r+ (a,-a,)or a.<. t:
1g a(a'-t') @) b(a,-b,) @) (a,-t) @ b(a-b)

1*.\s.\F.\q.*.- fu-n frqr-r qtqr, zors)
+. fii qfzqr's'qfl: 15, 20 (.N 30 fur-. + e-d{ro c{ qqfr *r qG rfuqt' rr +i 11k q+ srq

qu-fr * d g<: errd qR s-s t qs <tq {+,fr7
(a) ll :30AM (6) 12:00PM (c) 12:30pM (fl I :00pM

(sm.3m.*.-(q{.4$.*.) qfrfl , 20 1 6)

s. 3 ERr frqq fi-+ rg*fr''* rr{d riqrei ol tq +s tr r<i t egdq qqr er d,fr?
(o) 18 (b) 3 (c) t2 (d e

G€.\r€.fr -fr.q.+.qrt.q€.cfi.+.fi R.sn$ Crt s.\R.srrt utgr, zo r o;
6. rFrT a gfi Er-flff+ prf+ *r ve 89 sil{ t25 +i a + frqrt{d t+qr qrm *, d lics-a E-c{r,

+ ert< o wcr tr n-q o qr qFT +lr dqr?
(a) 17 (b) e (c) ls (d) j

(q€.q{T.*.-*.q.+.q[F-.q€. sfu *.3{r$.Sq.qE6.. sc-f{fr.{€ vfrqr, zor oy

l. 5,7,11 *t t: qr IIIL = 5x7 xl l x13 = 5005

dwq {sn =5005-3=5002

2. fflr rrqr t t+ c.e. ge e.r. *'rv: l0 qq'200 +t

wrr ft {H-0 *fqr 
"t-rq.q. x d.q. t0 ). 200

= {s{I Tt@lT = .10
q6f,T ITGII 50

{6ilq FC[tr6r*i6, AUr Agm Veru-+df+& 'rq uri:i ra



r. ("4-a')w (a' - D')

+ (a-a)6!3 (a-b)(a+b)

... (,a- a' ) w (o' - t')an e.e. = b(a + D)(a - a) = a(a' - a') *r

4. frcr.IqI qrq = 15, 20 w'30 fiq-a 61 q.q. = 60 E-{c

d ga: wrd sR d-r qtrcr qi'fr tz e-S iT6(

S. w+ qsr( t 3r,3x+3F' 3x+6

WltFR, 3x+ 3r+3 +3r+6 = 45

= 9x+9 =45
+ 9x = 45-9 =36

9

.. d agflc 1creql = 3r = 3x4 = 12

6. M* (8e-4)=8sqs (12s-6)=1le

=85€ 119 tfi'T E.rI = 17

85 119

-85

J+ 85

-68

2
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l0-6=4

=279+65=344

=344-t26= 218

l)-320-o=320
2)=320-6 =3t4
3) = 314 -24 = 2so

a) =2eo-60 = zto

16. 320-

320_

3t4-
290 -
230 _

17. 3xl+l=
4x2+7=

s)=no-no=
4

9

(z

(:
(+

(,'

(r' I l0

9x3+l=28
28x4+l=113
ll3 x 5 + I = 566

18. 8x0.5=4
4x1.5=6
6x2.5=15
l5 x 3.5 = 52.5

52.5x4.5-236.25


